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e Before answering the questions, ensure that you have been
supplied with a complete and correct question paper. No
claim in this regard will be entertained after examination.
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General instructions:

i) All questions are compulsory.
ii) Write the correct option in objective type questions.
iii) Marks of each question are indicated against it.

TS H
Section -A
Chemistry (THTIT ATE)

Q.1.9E] T YR 3R e Rl & o wgeTde gt 1 a&g 1 &
HEA 62

A)HR

B)EUTATAR

C)fa¥uTTeT

D)faRTH Tl

Q.1.What is The shortest distance between the initial and final
position of the object?
A) Difference
B)Transfer
C)Displacement
D)Resting place
1 marks



Q.2.&af &1 Tl T 3178k aoi F I1fd e s A ATl F TeAdl
§34TWGI1F|T%|

A)mreafas
B)3TqRrea s
C)&atafas
D)Rreafas

Q.2. A body moving faster than the speed of sound is said to be
moving with a .............. speed.
(A) Supersonic
(B) Subsonic
(C) Isosonic
(D) Ultrasonic.
1marks

Q.3.5 T HATIh 3PS FAT §?

Q.3. What is the standard unit of force?
1marks

Q.4.9%dT & T&cd I 0T T Aol gl

Q.4. The value of the acceleration due to gravity of the Earth is

1marks
Q. 5. 3THDYUT (A) T raear # T a&] 1 a1fdst Foll Y gl o
HRUT (R) : el a6t 21 36T a1fe & RO ST Sroft g1l @ 39 arfarst St
fgilssertion (A): A body at rest has zero kinetic energy.

Reason (R) : The energy possessed by a body because of it's
motion is called kinetic energy.

i)37F YT A 9 FRUTR



Il TWET & | HROT R, &Hr
TET SATEIT T & |
B): %l A d SRUT R Il TEY &, el HRUT R FUA A &1 Y A wigt
CXGIN
C): UT A HEI § dUT SRUTR ITeld & |
D): T A ITeld & AT

$IRUT RTET ¢ |
A: Both A and R are true and R is the correct explanation of A.
B: Both A and R are true and R is not the correct explanation of A
C: Aiis true and R is false.
D: Ais false and R is true.

1 marks

Q. 6. 579 THE BT A Teh &I (SFRIT )T HieT ST §, Y el & HROT 16T
TSI G [TTSE |

Q.6. When a carpet is beaten with a stick, dust comes out of it.
Explain.
2marks

Q. 7. AT FATE?

Q.7. What is power ?
2marks

Q. 8. FIS TT TaTH IALAT T Telall YR il § I4T 2 fAIe d& 0.1 ms-2
% Teh GHTT caI0T F Told! &1 TRepeled HIToTT]|
(a)9Te T TS AT AT (b)dd HT 775 gl |

34T

Uch LolATTaT TEUT T AT YA Sldl & 3R T GHTT caluT & T Tl
§U 10 fAsTe # 40 km /h FT TS 9T AT § SHPT caluT AT AT |

Q.8. A bus starting from the rest moves with a uniform acceleration
of 0.1 ms-? for 2 minutes. Find the (a) speed acquired ; (b) distance
travelled.



OR
Q.8. A train starting from a railway station and moving with uniform
acceleration attains a speed of 40 km h-' in 10 minutes. Find its

acceleration.
3 Marks

Q. 9. €afal ST gaerdr JUT digdr H 3R Sd18v|

Q. 9. Distinguish between loudness and intensity of sound.
3 marks

Q. 10. a)fa?-_cf}ﬁa?@?rﬂdld arel dlbcdlchNUl ol &l &7 8191, I
i) Teh a&q T GCTHT 2 AT Y feam S|
i) 3T ¥ Srer 1 g2 eI 3reraT et I R & e
iii) et JEIIT & G AT a’rwﬁramﬁ:trawv
OR
Q.10. IEAT HT TAE T I[Ecary cal0T Gl Y TAg I T caoT el
Heraﬂusw%"lwmkg@rqmmuam qTFrancraa“quW:ﬁr R

T gIAT?

Q. 10. What happens to the force between two objects, if
(if) the mass of one object is doubled?
(ii) the distance between the objects is doubled or tripled?
(iii) the masses of both objects are doubled?
OR
Q.10.Gravitational force on the surface of the moon is only 1/6 as
strong as the gravitational force on the earth. What is the weight in
Newtons of a 10 kg object on the moon and on the earth?

5 marks
(TATTST ATE)
2T 11: dTIHTA d6aT A hUll T AT I AT THIG ST &2
A) e g1 B) §H T &
C) St g

D) Tl dgd el g



Q 11:what is the effect of increase in temperature on the speed of
particles?

A) Decreases

B) remains the same

C) Increases

D) None of these

1 marks

2T 12 :37eWT 0T 9T ahiel TT HTAA BT 872
A) H0T

B) &<

C)-afera

D) $1H & IS T8

Q12:what is the charge
on Alpha particles?
A) Negative
B) Positive
C) Uncharged
D) None of these
1 marks
95T 13: BRI # ST o &9 H ahled AT I Tl T STt 82
Q13 which gas is used
as a fuel in homes?
1marks

92T 14 Freligsdl fAH0T

_ &

Q.4. Colloidal is a.......... mixture:
1 marks

9% 15:37371eheeT A: TRATY] YeTe T T oI gohrs ¢ Sif TAiaeh
sfAfRar 7 Hrer o B
SROT R: e Tcdl & WA U TATT gl & |



A): AT AT HRUT R ST Ll &, HROT R,FAT A FT &1 TET SATEAT T
el
B): %Y A T ST R &1 TET &, olfheT SHRUT R ST A & TeY cITET T8 1
HITI
C): UT A HEI § dUT SRUTR ITeld & |
D): ST A ITeld & AT

HRUT R B
Q 15. Assertion (A): Atom is the smallest unit of matter that take
part in chemical reaction.
Reason ( R): Atoms of all elements are same.

A: Both A and R are true and R is the correct explanation of A.
B: Both A and R are true and R is not the correct explanation of A
C: Ais true and R is false.
D: A is false and R is true.
1 marks

92T 16. ITHAT 7 G2 T STl ST FAT glaT &2

Q.16. How does the water kept in an earthen pot (matka) become
cool during summer?
2 marks

U7 17. ITE dcd T Z= 3 g Al dcd bl GATolehdT AT gI9IT ?2dcd ol ATH &Y
o

37erar

& GATOT TSt & Shgehi T e s feam ar g -
X Y
qelT 6 6

mj?r 6 8
X 3 Y I gegAT IEaT A1d Rfav|

Q.17.If Z=3, what would be the valency of the element ?Also,name
the element.
Or



Composition of the nuclei of two atomic species X and Y are given
as under:

X Y
Protons = 6 6
Neutrons= 6 8

Give the mass numbers of X and Y . What is the relation between
the two species?
2 marks

gesT 18. A« T 31801 g cIredr i
(a) T fafereT

(b) Rreer gerd

(c) HIcISS

(d) fHessT|

Q.18.Explain the following:
a) Saturated solution
b) Pure substance
c) Colloid

Or
Differentiate between homogeneous and heterogeneous mixtures
with examples.

3 marks

gsT 19:cUTEIT HITAT :-
) REATOY I
il)gcTHATT &
ii GATYTAR

Q.19. Explain:

i) Atomic number

ii) Mass number

iii) Isotopes

3 marks

2sT 20. AT f@d & Tafas g7 fafau -
(a) HIATH FeIRSS



(b) HRRTH FaRESS
(c) PR =ATS¢e
(d) T TATAIH FeiRTSS
(e) FTerRIA FrEfac|
372rar
etafad gerat & AreR gega@e 1 IREdT HIfAT -
a) WIS, C,H,
b) T 30T S,
¢) PIEPRY U](IRAT] gecdHA=1=31), P,
d) gSsIFailReh 31FeT,HCI
e)rsfea 315eT, HNO,

Q.9. Write the chemical formula of the following:
a) Magnesium chloride

b) Calcium oxide

c) Copper nitrate

d) Aluminium chloride

e) Calcium carbonate

Or

Calculate the molar mass of the following substances :
a) Ethyne, C;H,
b) Sulphur molecule ,

Ss
c) Phosphorus molecule,P, ( Atomic mass of
phosphorus =31)
d) Hydrochloric acid ,HCI
e) Nitric acid, HNO;

5marks

St faare
(Biology)
Q. 21. TAT 7 39TEAUT &Y IET I FIT g 82
A)&T STt
B)&X &UT
C) FeiRITthel

D)3 | 15 =Tt



Q. 21. What is the green pigment found in leaves called ?
(A) green pigment

(B) green particle

(C) chlorophyli

(D) none of these.

Q. 22. IrSUIcHST T fohaT fohdsh GaRT HYee Bldl 82

A) TR

B) tiasf@d

C) ITRhI3T A

D) forTaetet

Q. 22. By whom is the process of transpiration done ?
(A) stomata

(B) epidermis

(C) cavities
(D) Lignin.

Q. 23. YHI2T GLAVUT & T fond 319 1 3maTanar giar &7

Q. 23. Which gas is required for photosynthesis ?

Q. 24. ISAIEH HITAHT ST ETS

Q. 24. Lysosomes are called ............... of the cell.

1 marks

1 marks

1 marks

1 marks

Q. 25. 3fAFU (A): TETITASR TRATT Pl Scoh A AT AT 1T HehdT|

FOI(R) : Teh TN JTRTHAT 7 777 uere sa1ar &
A):FYsT A 3R FROUTR

alell HET § AT HRUT R,

A I EEY SITEAT HIAT

gl

10



B):%YUT A 3IR $RUTR
Gl TEY § olfohed SIROT
R,%YUsT A T Ter
SITEYT 18T hdT|
C): AT ATE! &,PROT
Rt &
D): S¥YsT A ITeld & AT HRUT R 3T |

Q. 25. Assertion (A): a chemical change cannot be reserved easily.
Reason (R) : In a chemical change a new substance is formed.

A: Both A and R are true and R is the correct explanation of A.
B: Both A and R are true and R is not the correct explanation of A
C: Ais true and R is false.
D: A is false and R is true.
1 marks

Q. 26. HITAHT T isT AT 39T TTolleR § ? IR FAT?

Q. 26. Which organelle is known as PowerHouse of the cell ? Why ?

2 marks

Q. 27.3U S FAT R 82
3HYar
FIfsah (zeTa ) FT AT FT FA7 §?
Q. 27. What are the functions of stomata ?
OR

Q. 27. What is the specific function of cardiac muscles ?

2 marks

Q. 28. el JehR & TRl 20T & T Sy 3T TS |
Q. 28. Diagrammatically show the difference between three types of

muscle fibres.
3 marks

11



Q. 29. TATET FT IAAT F TATT WA & Tl WG, AT 33 o 3TINT Hl
el AT

Q . 29. Compare the use of manure and fertilisers in maintaining
soil fertility.
3 marks

Q. 30. UTEY HITAFBTIHT TAT ST PIARTN H Jelell U |
372qar
UIhRATET SHITRAAIT JehRATET HITAAIINT & ohd Teh et Bl 52

Q. 30. Make a comparison to write down ways in which plant cells
are different from animal cell.
OR
Q. 30. How is a prokaryotic cell different from a eukaryotic cell ?
5 marks

12



Science/fdaTT

Sample paper answers

Ans.1 C) farams
C)Displacement
Ans.2 A) Rreafasd
A)Supersonic
Ans.3 =gc&s
Newton
Ans.4 9.8 ms?
9.8 ms™?
Ans.5. a) 3IfAFTA (A) T HROT (R) =il T & T HROT (R), 3T YT (A)HT &I SATE&AT g p

Ans. 6. 319 fohdY &1 (FRUCT )T B3I A UICT SATAT & df &l 3791 TATT T §C SATcll § I 3TH
feZATeT &t & HUT ST5cd & HROT 391 A FTR@d & 51 ShROT 98 S16 317 S71d &

Ans. 7. 518 &T 8 FT &l 3cTest AT
g forar ST 38 afad Fed § | 38 'P' gaRT YaRid T ST §

AT = Faft T 3mqfel/ foram arm wo
P =E/T

Ans. 8.

u=0

t=2 min =2x60=120s
a=0.1ms-?

v=? S=7?

v=u+at
v=0+0.1x120

v=12 ms—’

vZ-u2=2aS
(12)>-(0)*=2x0.1xS
144-0=2 S/10
144=S/5
S=144x5=720m.
OR

Initial velocity, u=0
Final velocity, v=40 km h-

=40x5/18=100/9 m s-'
t=10 min =10x60=600s

a=100/9 ms—" -0 m s —'/ 600s



a=100/9 x 1/600

a= 1/54 = 0.02 m s

Ans. 8.

u=0

t=2 min =2x60=120s
a=0.1ms-?

v=? S=7?

v=u+at
v=0+0.1x120

v=12 ms-’

v2—u?=2aS
(12)>—(0)?=2%0.1xS
144-0=2 S/10
144=S/5
S=144x5=720m.
OR

Initial velocity, u=0
Final velocity, v=40 km h-"
=40x%5/18=100/9 m s—*
t=10 min =10x60=600s
a=100/9 m s—"' -0 m s -/ 600s
a=100/9 x 1/600
a= 1/54 = 0.02 ms™
Ans.9 IeITT §H ‘Gaeldr TUT ‘dadr sl T TATT & T H JANIT FX ol ¢ IR 3of I Tah af 37
I8! 81 IaeTdT €ty & fIT srat Shr FaeaTferdr & aiferseT digar 7 tehies & 9% e & T Qs &

ISR aTelT eafet Fatt gl
T Ao 3o § —-

&gty gdeldr egfey draar




(1) €afeY & TIT YeTerdT Slet (1) e fondY Tehish 819l & Teh Uohs
HaceTTeldT ST ATT g IS dTell &afal Foit &

(2) CafeY S TeToTdlT &1 AT AT ST TeheT| | (2) Eafar Y erar Y AT ST Fehell 1

(3) TAe-ToeaT JaTehi & forw eafar &r %S)Hsﬁé?%rvzaﬁraﬁrmawwws’l‘cﬁ
STl 37eTaT-37eTdT &1 Hehell & | I .

(4) e 3R aeey eafel aan & (4) RRrareg 3R 379y eafer I 7 drgdr
TS oATS of o T FHROT e Bleil | T .
gl RGIRECES

Ans.9. Although we use the words loudness and 'intensity' as synonyms, they do not mean
the same thing. Loudness is the sensitivity of the ear to the sound but intensity is the sound
energy passing through a unit area in one second. They have the following differences-
Loudness

1) Loudness is a measure of the sensitivity of the ears to sound.

2) The loudness of sound cannot be measured.

3) The loudness of the sound may be different for different observers.

4) The loudness of the ultrasonic and infrasonic waves is zero as these are not audible.

Intensity of sound

1) Intensity is the amount of sound energy passing through a unit area in one second.
2) The intensity of sound can be measured.
3) The intensity of sound is same for all.

4) Ultrasonic and infrasonic sound waves may have intensity.

Ans.10 §H JEd & T

F=Gxm;m,
___r_z___
i) STl Teh & T GegHTST &l 3T T
ﬁmawa’ra’rﬁﬁ'zraaa’rmg’r
ST |

i) T YAt a3t & drer 1 g & AT &Y ST & F Ueh <hers (V) gY Sea; gl et [T et
IR F T IIRATOT 1/9 g1 SATTaT|
ii) ST M 31 M, T QAT T AT ST AT F AR T[T 8T ST |
Or
Ans. 10. Q%ﬁwaﬁfaﬂ



GcddATT, m= 10 kg
HGHT U TG T GedHTA,m= 10 kg (SETATT [FU T 8)
g2dl I HR ,W=mg

=10x 9.8

=98N
TGHT I AR, W= mg,,

(9n=9/6)

=10x 9.8/6

=08/6

=49/3=16.3N

Answer. 10. We know that
M; M,

(i) when the mass of an object will be doubles then the gravitational force will also be
doubled.

(ii) if the distance between the two objects is double than the new force of attraction will be
1/4 times of its original value;

On the other hand, if the distance between two objects is triple then the new force between
them will be 1/9 times of its original value.

(iii) When M, and M, are double, F will will be become four times its original value.
OR
Solution. 10. Weight of the object on earth m=10 kg
Mass of object on the moon m= 10 kg ( Mass remain constant)
Weight on the earth
W= mg
=10x 9.8
=08 N
Weight on moon
W=mg,
=10x% 9.8/6
(9m=9/6)
gm =98/6
=49/3
=16.3N

3/ 11 C)dedr ¥

Ans 11 C) increases

3 12 B) e
Ans 12 B) positive

3 13) 3gfad veifergs 3,
LPG



ANS 13) Liquid petroleum gas
LPG

3 14 QwAET

Non homogenous

3 15 C) 378 U (A) AT &,
T FROT (R) 37 ¢ |
C) Assertion A is true but the
Reason R is false.

3 16. 3 H SIc-Oic W ald ¢ | a8 g3 & 317 3o RAar Igar § a8 W®|d EU STel T HTE
& 927 @Y 11T § forgenT Il @ arsue giaT € | arsuel & 38 3cUeT glal &

Ans 16. The pots have small pores.The water filled in the pots keeps coming out through
these pores. The surface area of water coming out from the pores becomes very large,
which evaporates very quickly. We know evaporation produces cooling. As a result the water
in the earthen pot becomes colder.

3T 17- Wmaﬁzﬁ%cﬁmmm%l
URAT] HEAT = 3
p(SeTeT)= e(3earteT )= 3

e=2,1
HASThdT 1 glTT|
dca T A1H= g

372rar

X T GeTATT T&AT=6 + 6 = 12
Y FI g TEAT =6 + 8 = 14
X 3R Y & IATI] HEAT FAT § W GedH T H&dT et § sfav ag gaedniar g

Ans.17. The atomic number is denoted by 'Z'.
Atomic Number=3
p(proton)=e(electron)=3
e=2,1
Valency will be 1.
Element Name=Lithium
Or
Mass numbers of X =6+6=12
Mass numbers of Y=6+8=14
X and Y have the same atomic numbers but different mass numbers .
They are isobars.

Ans.18:
HeJod faerae—

)mﬁﬁﬁwwﬁmﬁmwﬁﬁumdl dl 38 dd faferde sgd ¢
|%wﬁﬁ%mﬁw%ﬁmﬂmmmﬁ%

b) [eer Fere-——



e Yerd ag & TS shael Teh €1 YehR o 3107 81t & | ey gary & sitfien o aamaferes ot
g &1 Welt N e[ty vers &1 SeTERoT A, A, Whar, e, 9w 3

C)PIeSE —---

Ig U ATl fsroT § fSe oi &1 3R Tah nm (A1 )& 100 nm & S gidT & foiee
3T@T A STET W ST FohdT| Ul T TG 3R’ TehTT T hT0T T thell Tehet & TIT T & 134T
hROT A Teh1l T 0Tt bt thell S & 19 0T el TR 8T J6d ol fehad ITehgUT eheileh & JUH
fahdr ST bl § 1 3ETEXOT — g, STeel , Y37 G, TS, SToll, TR, HergeT 3711 |

OR

AT [Fsor awaTef AT
1.59 THA0T & 3999 Uh GATT SC gl & | 1.%?Wé?ﬁdqq13$amdmﬁai%aﬁ
[
239 TRAOT & 3 & 70T TAT T &Y 2. SHH 30 & 0T Ueh g@ A o=t g1t &

3EEAT 7 Teh HATT glchl ¢
%T:\’I%TUT—E\’I?IH, SHIET T 7 lel, 3oehlgel | 3aTeX0T — ¥ &oT 3T ol Fot, ¥ +3rAfaas
qrelY, arg i | FARTSS, 9l 7 Aieh ,reil & doT
nfe
Ans .18

.a) Saturated solution :
If on adding the solute in a solution at a given temperature it does not dissolve then the
solution is called a saturated solution. Different substances have different solubilities at
different temperatures .

b) Pure Substance :

A pure substance is that which has only the same type of particles (atoms, ions or
molecules). Pure substances have fixed physical and chemical properties.all elements and
compounds ( covalent or ionic ) are examples of pure substances.

c) Collide:

It is a heterogeneous mixture in which the size of particles is between 1nm and100 nm which
cannot be seen with naked eyes. These particles are of such a large size that they can
scatter the beam of light passing through their solution. These particles do not settle at the
bottom but can be separated by centrifugation technique.

Or

Homogeneous mixture:

1. Its components are equally distributed.

2. In this the properties and composition of fictions are the same.
Example - brass, bronze , sugar in water , water in alcohol , air etc.

Heterogeneous mixture



1. Its components are not equally distributed.

2. In this, the properties of the fractions are different from each other.

Example - sand particles and iron powder, sand +ammonium chloride ,chalk in water ,oil in
water etc.

Ans.21.(C)FeRI el
Ans.21. (C)chlorophyll

Ans.22.(A)ECIHCT
Ans.22. (A) Stomata

Ans.23. FIeeT SBHTFASS
Ans.23. Carbon dioxide.

Ans.24. 3TTcHETT Tl
Ans.24. Suicidal Bag.

Ans.25. 3 HYT (A)FRUI(R)GIAT T § dUT HRON(R) 3HRUI(A) Fr T care&am g

Ans. Both assertion (A) and Reason(R) are correct and Reason (R ) is the correct statement
of Assertion(A).

Ans.26. ATSTIHITSAT HITRAHT T fosTell B &1 S HITRIDT F HISTeT Jerdf & ST oT T TATH
HIAT SITT & | $Heh &HA & GATCcd HTAT H F3iT HeFel Bl & | SHT HIROT Y HITRABT T Fofl 8
gl ST &

Ans.26. Mitochondria is known as the powerhouse of the cell. It is the site of oxidation of
food in the cell due to which a large amount of energy is released during respiration. That is
why it is called the energy powerhouse of the cell.

Ans.27. T4 aTgHASH & 3T T ITETA-TT I & | ATSUIcHole i fohar 8t 3¢ o gaRT gieh ¢ |
3Rk

ged Ul 1 TI9Y R QU Shae $R FFeey gle TR 3R Hepeiel ohial & | 8T & IRome Taeq

TFd TR R H T FAT B |

Ans.27. This stomata exchanges gases with the atmosphere. The process of transpiration
also takes place through them.

OR
Answer. 27. The muscles of the hurt show rhythmic contraction and relaxation throughout
life. It is responsible for heartbeat and plays a role in circulation (pumping) of blood in the
body.

Ans.28. TNT Fcdeh olall PITARTIT T TAT 1T & | ToT8r I=ft 321 8ff Fhgat &1 I§ g R H a1fa
F foT 3R glar g1 I8 A YR & g— Ueos 9aft, 3retiTae 0l 31X geas ual |

Ufeos aeft U Teas ULt g ueft




STST gIci 8l
I¢ Ueo gl ¢
goTH g AT Gooh
T T gefea gieh &1
SHTAT Sog W
afR1T 8 et ST & |

wn

' SollThR, 2MET I d
3R sgafadhT grdr

%%ﬁggaigw ;
(?gﬂﬂgggziﬂ
% g A Sy

%
2

Answer. 28. Muscular tissue is made up of long cells, called muscle fibres. It is responsible
for movement in our body. These are of three types: voluntary muscle, involuntary muscle

and cardiac muscle.

Voluntary muscles

Involuntary muscles

Cardiac muscles

1. They are often joined
to bones.

2. These are voluntary
in nature.

1. They occur in walls
of hollow visceral
organs,iris of eyes
and dermis of skin.

1. They occur in the
heart wall.

2. These are
involuntary in nature.




3. They have light and 2. They are involuntary 3. They do not contain
dark bands that is in nature. light and dark bands.
why they are called 3. They do not contain 4. They are branched
striated muscles light and dark band and cylindrical with
fibres. so they are also nucleus and

4. These are long, called non striated branched.
cylindrical muscle fibres.
unbranched, and 4. These are
multinucleated. tapering,long and

uninucleated.
-
=4
Ans.29.
re IRF

1. Ig MR JAT ITel- TS 9ief i 1. g A Te1d § Sl HRE H R
WTehicieh 9erd & STl &1 fPU ST B

2. I8 AT T gl 2. U HEAA: HhSTAs gerd B

3. Ig AN % FIAMYUT ¥ TS 181 gid| 3. UG AHT FT HIMTOT FIh TS &r

4. ZoTH it $T gefer & fow 3maeas ST &

ATSEISTeT, BITHIRA, TUT AeTfRATH 4. 3oAA dtet Y gefe & T raeas
S 9y dea 311 AT & 8 @1 ATSCIoTe, BIEHRY J2T Gre RITa S
9IS Ted g e AT H 8 &l

Answer. 29.



Manure

(i) They are made from decomposition of cow dung and rotten plants.

(i) This is mainly organic matter.

(iii) The amount of nutrients like nitrogen, phosphorus and potassium is low in these.

Fertiliser

(i) These are chemicals prepared artificially in factories.

(i) These are mainly inorganic substances.

(iii) This mainly consists of nutrients like Nitrogen, Phosphorus and Potassium in high

amounts
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Answer. 30.

Difference between plant cells and animal cells:

] - A=
’L“J l Centrosome
o o o S—
3 0 0 , Ce" ‘Ha” CE‘” wall
oo 0 Cell membrane Cell membrane
(=Y
1] Golgi bodies Golgi bodies
oV, \Nuc!eus Nucleus
0” |
= \ Nuclear Nuclear
a i membrane membrane
i =~ Mitochondria Mitochondria =% ...
L Vacuole Vacuole
Chioroplast B
Plant cells Animal cells

(1) The cell wall is also present on the outer
side of the plasma membrane.

(2) Green pigments are present in it.

(3) Vacuoles are large and prominent.

(4) Centrosomes are absent in it.

(5) Cell division is initiated by the cell Strip.

(6) Golgi bodies are made up of
different units called dictyosomes

(7) Calcium oxalate crystals are always
found in plant cell.

(8) Photosynthesis takes
place in them.

(9) They are usually of large size.

(1) Animal cell is surrounded by a fine
membrane called plasma membrane.

(2) Chloroplast is absent in it.

(3) Vacuoles are either absent or of very
small size.

(4) Centrosomes are present in it.

(5) Cell division takes place by the
formation of grooves.

(6) Golgi body is present.

(7) Calcium oxalate crystals are always
absentin it.

(8) Photosynthesis does not take place in
these cells.

(9) They are usually of small size
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Answer . 30. Difference between prokaryotic and eukaryotic cells:

Prokaryotic Cell

Eukaryotic Cell

1) They are usually small sized.

(2) They lack membrane- bond cell
organelles like endoplasmic reticulum,
lysosomes, mitochondria, etc.

(3) There are 70S ribosomes in them.
(4) Chromosomes are made of DNA and
found in the cytoplasm.

(5) In these, the chromatin material is not
bonded by membrane.

(6) Nucleolus is absent.
(7) They have only one Chromosome.

(8) Cell division takes place by budding or
fission method.

(1) They are large sized.

(2) All the organelles bound by membranes
are found in the cells.

(3) Ribosomes are of 80 S type.

(4) Chromosomes are made of DNA and
are present in the nucleus.

(5) Nucleus is wanted by the membrane
called nuclear membrane.

(6) Nucleolus is present.
(7) They have more than one chromosome.

(8) Cell division takes place by mitosis or
meosis.
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